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GENERAL KNOWLEDGE

World Héalth Day is observed every year on &
(1) 1%t April = - (2) Tt April

(3) 14t November (4) 204 Qctober

Jaochim Gauch is the new President of

(D Germany R (2.) Senegal

(3) Russia N (4) Maldives

Who 1s the Depu g Chairman, Planning Commission of India? -

C3ie
(1) 8. Manmohan singh ‘ (2) Pranab Mukherjee
(3) P.Chitambram . ~ {4) Montek Singh Ahluwalia

First atomic power plant in India was 'esta_blished at
(1) Kalpakkam - (2) Kota

(3) Tarapur R - '(4) Narora

Who among the following has become the first Indian to score a triple century in Cricket

-Test
(1) Rahul Dravid - - (2)  Sachin Tendulkar
(8 V.VSLaxman | () Virender Sehwag

Blood grouping was discovered by
() William Harvey - (2 RobertKoch

(3) Landsteiner , _ {(4) Louis Paéteur-

The next olympic Games will be played in 2012 in
(1) N.Delhi | (2 NewYork
(3) London | | (4) Liverpool
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8. | Which Wild life sanctuary is home to endangered Hangul species of deer.
(1) Kishtwar High Altitude National Park
2) Dachigaﬁl Wild'Life Sanctuary |
(8) Overa Wild Life Sanctuarsr ‘
. (4) Surinsar Mansar Wild Life Sanctﬁary

9. Badshuhnun Dumat popularly known as Dumat a piece of the Shahmiri architecture isin .
1 Pampore . : ‘ - (2) Shopian | '
(3) Srinagar ‘ (4) Kupwara

10. Which river is having maximum numb{er of Hydro Power Projécté in J & K state
(1) Jhelum River - © (2) TawiRiver
(3) Chenab River S (4) Indus River

'11. Number of districts in J&K state are _ ‘
@ 12 (@ 18 (3) 20 @ 22

12. Setting of the J&K Human Rights Commission was announced on

- (1) 6t Jan 1996 (2) 6tk Jan 1997
(3) 6 Jan 1998 | (4 6% Jan 1999
13. Famous shrine of Shadra Sharief is in district N of J&K state.
(1) Poonch . : - (2) Kishtwar '
(3 Budgam o (4) Rajouri

14, Number of seats in the J&K Legislative Assembly are , _
1) 8o @ 82 @) 87 4 90

16. Jammu Tawi came on Railway map of India on

(1) 2%40ct 1971 (@ 240ct 1972
(3) 204 Qct 1993 S (4) 204 Oct 1994
PTCET : 4
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16. The main city of Indus Valley éi@ﬂizat_ion was - A
(1) Haraippa : _ ' . (2) Mohenjodaro
(3) Channdaro | | (4) Kallibanga

17. Garibi Hatao was the main objective of the _
(1) Third Five Year Plan ~ (2) Fourth Five Year Plan
(3) Fifth Five Year Plan (4) Sixth Five Year Plan

18. Who is the Chairman of Rajya Sabha? : ,
(1) President . , (2) Vice-president |
(3) Attorney-General ) - {4) Lok Sabha Speaker

19. Discovery of India was written by |
(1) MK.Gandhi - (2) Indira Gandhi
(3) J.L. Nehru : (4) R.KNarayan

20. First Indian to climb Mount Everest without oxygén
(1) Tenzing Norgay (2) Santosh Yadav
(3) Phu Dorjee ' o (4} Nawang Gomba

21. The most abundant gas in the atmusphére is
(D OXSrg(_an‘ . _ - ‘ (2) Nitrogen _
(3) Hydrogen (4 Carbon dioxide

.22, Surat city is situated on the bank of river
(1) Godavari o (@) Tapti
(3) Sabarmati (4) . Sarju

23. A black holeisa body in the space which does not allow any radiation to come out. This is

due to its _
{1) Very small size : (2) Very large size
(3) Very high density - (@) Very low density
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24.

25.

26.

27.

28,

World Tourism Day is celebrated on
(1> October 9 (2) October 3
(3) September 27 | (4) August 19

What is known as the 'Roof of World'?
(1) Indira Point (2) Kanchenjunga
(8) Pamir Knot (4) None of above

Which of the following was hosted by India for first time in 2010?
(1)  SAARC Youth Festival ' {2) Asian Games
(3) World Cup Hockey ' . (4) 'Commonwealth Games'

Finance Minister Sh. Pranab Mukherjee presented the Union Budget in the parliament for
the year 2012-13 on

(1) 26t Feb 2012 | (2) 28t Feb 2012

(3) 14t March 2012 ' (4) 16th March 2012

Justice Ibrahim Kalifulla was sworn in as Supreme Court Judge on 1st April 2012, He

hails from is

(1) J&K State : (2) ZKerala State

"~ (3) Tamilnadu State - (4) Karnataka State

29,

30.

Nuclear Security Summit 2012 held on 26t and 27th March 2012 in the city of

(1) Tokyo ' @) Seoul

(3) Beijing | (4) Manila

Name of the union minister who on 20t March 2012 was sworn in as the Union Railway
Minister. | | | | :
1) MKAligii : 2) Subodh Kant Sahay

(3) Kishan Chander Deo ‘ : (4) Mukul Roy
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31.

32.

33.

34.

35.

- 36.

37.

MATHEMATICS

The area of four walls of a room is 120 m?. The length is twice the breadth. If height of
room is 4 m, find the area of the floor.

(1) 30m (2 40m @) 50m (&) 1zom

" A room is 18 m long, 14 m wide and 8 m lngh Find the total surface area of the six faces of

the room.
(1) 1008 m?2 (2) 1016 m2 (3) 2016 m2 (4) None of above

'Find the area of quadrllateral ABCD having AC = 44 cms s and Iength of the perpendicular

from B and D to AC are 20 cms and 15 cms respectively.

B

e
o
[x]
=}

d i.......

.
b
e
B

(1) 770 Sq. cm. (2) 17008q. em. - (3) 8805q.cm. (4) None of above

Choose the correct area of hexagon having one side equal to 2 m

(1) 343 m? @) 2J—m2 (3) 643 m2 @ 43m?

Calculate the area of the trapezium, the parallel sides of which are 50 and 25 cms having
7, 2 cms. perpendicular distance between the parallel sides.

(1) 6258Sqcm @) -540Sgem  (3) 270Sgem  (4) 135S8gcem

Area of a right angled triangle if radius of its eircumcircle is 5 cm and altitude drawn fo
hypotenuse is 4cm. -
(1) 40 cm?2 ' (2) 30 cm2 - (@3 20 cm2 (4) 10cm2

In exchange for a sugar plot of land one of whose sides is 252 feet, a man want to buy a
rectangular plot 432 feet long and of the same area as the sugar plot. Fmd the width of the
rectangular plot.

(1) 142 feet @) 147 feet (3) 149feet - - (4) None of above

'PTCET - 10 . | | | D
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38.

39.

" 40.

41.

42,

43.

’ AB AC BC
If in two triangles ABC and DEF, EF FD ED then AABC ~

() ADEF ' @) AEDF

(3) ADFF o 4) AEFD

In AABC and ADEF, if £A =50° £B="70° £C =60° £D =60°, LE =70° and £F =50°

- then . 4 ,
(1) AABC ~ ADEF (2) AABC ~ ADFE

(3) AABC - AEDF (4) AABC -~ AFED

The length of the sides of a rhombus, whose diagonals are of length 24cm and 10cm is

(1) 17cm | | ) 922 em

(3 13cm | . 4) 10cm -

The corresponding sides of two similar triangles are in the ratio of 5 : 6, the corresponding

 altitude of the triangle must be in the ratio of:

(1M 1:2 : @ 1:3

@) 3:6 - ' @ 5:6

If the poiilt:A (6, 1), B (8, 2), C (9, 4) and D (p, 3) are the verticles of a pa:rallelogram taken

in order, find the value of p. )
@ 5 | - @. 6
@ 7 @ 8

Find tﬁe coordinates of | the point Wﬁjch divides the line segment joining the point (4, — 3)
and (8,5) inthe ratio 3: 1 internally. ‘

o 7,9 @ ay

@ @» @ @D
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' AB AC BC .
ngﬂ/égf/ ABC u:(/ﬁ’ EF FD ED J*DEF. ABC UJ’)"//;f

EDFuFf  (2) - DEF,u,f (1)

EFD of (4) " DFF of (3

¥ ZF =50° il LA = 60°, LB =T0° £C =60, 2D = 60°, £E =T0° A ADEF A ABCYF

AABC ~ ADFE  (2) . AABC ~ ADEF (1)
AABC ~ AFED (4) " AABC- AEDF (3)
| gl 2810 1l 24 HE SISl L

CoxE2 @ - S UBNGY

K10 @ | xF13 @

tfne IS aSUF I e s 6 S LU ULy
1:3 (@ | 1:2 @

5:6 (4 | - S 316 (3

:'u* b2.0D(p,3) #AG, 1, B (8,2),C (8,4 Point w7 (Vertices),; ,m&cwwf.( i

| "Lfan(Value) :’L:J P
6 @ - o - 5 (1)

8 (4 | 7 (3)

und"_f(;:d ;:.Md/ 3:1 4;:1’1:}»}':( (Segments) abﬁ‘_}‘“ Sfns ’Z-: =3 s(Co-ordinates) Jjﬁéuﬁﬁuf
(8, 5) (4, ~ 3)
7,3 @ | 7,4 Q@

(7, @) , ; - (7,2) @)
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44.

45.

46.

47,

48.

49.

50.

51.

Find all the roots of 2x* — 3x3 — 3x2 + 6x ~ 2 when two of its roots are /2 and — 2

_ | )
W 3, -2, —andl - 2 +2,-42,5and1
1 1
(3) ﬁ,—ﬁ,mandz (4) JE,;JE,EandZ_
Find the roots of the Quadratic polynomlal 22+ 7x + 10
(1) -2and-5 . (2) -2and-3 3 -2 —3and 54 -3and-5
Which of the following patterns number are in arithmetic progression (A.P.)
{1) 2,6, 10, 16, 24, (2) 10,10 + 25 10 + 25,10 + 27
(3) a,a+2b,a+4b,a+8b,a+ - 10b . (4) 12,8273 78

A car factory ’has manufactured 600 cars in the third year and 700 cars in the seventh year.,
Assuming that the productlon increases uniformly by a fixed number of cars every year.
Find the total production in the seven years.

- @) 4375 : (2) 4900 (3) 5425 _ 4) 5950

The probability of getting a number less than 5 in a single throw of a die is .

D0 2 3 2 @ 2
{ )_ - (2) 3 ( 3 A 3
Probability 'th;dt a leaﬁ year selected at random have 53 Sundays
n = | | 2 2 | |
3
(3) 7 (4) None of the above
Area.bf four walls of a room is . o
(1) 2 (length + height) x breadth B (2) 2 (breadth + height) x length
(3) 2 (length + breadth) x height " (4) 2 (length + breadth + height)
Area of Rhombus is
(1) -21~ x product of two diagonals (2) % x product of two sides
(3 % x sum of two diagonals _ 4) % x sum of two sides

52.

The area of a parallelogram and square are the same. If the side of the square is 40 m and
height of the parallelogram is 20 m. Find the length of the correspondmg base of the
parallelogram. . ,

(1) 20m : (2) 40m

(3) 80m : (4) None of the above

PTCET _ . 14 I . D



E 2 a2 (roots)m»u‘uu’...oé(#’(roots)mru,ﬁ 2x4 — 39 - 3x? + 6z — 2

1 . 3 -
1.5 V2 NE @ 1,~2~ =2 V2
1 1 ‘ ' 1 : :
TgeVZaz @ _ 2.5 -2 42 @

2_'-:[‘;1”‘ (roots) J,igﬁxz + Tx + 10 (Quadratic polynomial) Jf L‘d__l:u@_ﬁ;b'/
~3,-5 @ -2,-3-5 @ - -2,-3 @ ~2,-5 (1)

\ U‘LJJ’L(A P) (Arlthmetlc Progressmn) (f' /’ﬁ ly M!d.fc,u‘ JL@’LJ 3
'10, 10 + 25, 10 + 26, 10 + 27 . 2) © . 2,6,10, 16, 24, (1)
12, 52 72,73 (4) a,a+2b,a+4b,a+8b,a+ 10b___. (3)

'Ja_w.fu"’&ut,,_u* kUK T00 e Senl b 600 u"dl.r'.l_./"/_._/_..lcugi_bﬂ_._b;(/y‘u(
e Ok G devuuf;u ;m;wdp,-mbuufu*u»w’a_wﬁ

5950 (4) 5425 (3) 4900 (2) 4375 (1)
atﬁoldfﬁiH’LSU'(smgle throw of a d.le)ﬂ»l:ufi/

3 2 . 1 :
3 @ 3 @ 3 @ 0
e L‘E}ldfﬁﬂ__nlﬂ 53 u”u:’bJZ:ﬁ.:;(Random) #H

o 3 2 1

et @) 7 (3) ) = 1
LJJKLSJUJJ[VJ&.—/»—«?
aux(dwww)z () iz x(dlﬂf+db«’)2 (1
(dmwduywu)z (4) g x(dbﬁ+db«’)2 (3)
| S LK (Rhombus) o2 UF

S Wu:’“hx";: @ AU K (two diagonals) Ui ké (1)

' fﬂf‘ bgu),l-’;) x% (4) C;’J’J b2 792 x'é- (3) |

awd’ Cuﬂmdﬂ:ﬁ;l/zm é’w/f - JLE3/6 (Square) Gyl (Parallelogram) {usiiiis Ll
- eda LS, é"dwécmrwwx_c_./zo

S suE @ K80 (®) K @ £20 (1)
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53. In the figure DE | | BC,if DE = 4 cm BC = 8 cm. The area of the triangle AADE is 25 Sq cm,
find the area of the AABC. B

8 B - C
(1) -.328qem ! (2) 64 Sqcm (3) 100 E..}q'cm (4) 132 Sqcem

54. Two poles of height 6 cm and 11 em stand on a plane ground. If the distance between their
feet is 12 m, find the distance between their tops.

(1) 856m ‘ 2) 90m . (3) 12.56m - (4) 13.0m

55. Ifina AABC, £B=90°, 74 =60° and AB = 5 cm, find BC
(1) 33 em (2) | 443 em 3) 543 cm - (4) None of above

56. In the ﬁgure PQ is parallel to MN 1f = and KN = 20.4 cm, find PQ

@) 24em (2 48em (3 52cm (4) None of above

PTCET o o 16 | E D



¥ AABcufyc./J’dfzs.w AADE 51 %BC = 8 cm« DE = 4 em JIU*DE || BCF .53
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' 57. IfHCF of 12576 and 4052 is 4 then LCM of (12576, 4052) is equal to
(1) 2,54,78,976  (2) 3184872 (3) 1,27,39,488  (4) 63,690,744

58. State which of the following statement is false :
(1} Quotient of a rational and an irrational number is an irrational
(2) Every non-terminating decimal can be written as a periodic decimal
(3) The reciprocal of an irrational number is an irrati0n31
(4) 0.21 lie between 0.2 and 0.3 |

59. 3 of 25% of 740 is equal t.ol
(Ei‘l) 91 ' (2) 111 (3) 121 (4) 555

60. (331 + 19) x (15 - 11) x (37 + 13) is equal to -
(1) 4131 (2) 20,350 (3) ~ 30,250 (4) 70,000

61. Two inconsistent linear simultaneous equations will have
(1) No solution ‘ (2)  One solution '
{3) Two solutions ' (4) Infinite solutions

62. The graph ofy =3 is

(1) «x-axis ” (2)  y-axis
(3} Aline parallel to x - axis | -(4) . Aline parallel to y - axis .
63. Find roots for the equation : 1 12 =3,x#02 - .
- : - T x x-2

2+42 . 2-42 | 3++3 3-+3

| 1) 5 an 2 | (2) 3 and 3

-J3 - 34 3-42

&) 2+3*/§ and 2 3‘/§ ‘ 4) " 3”"3‘/5 and 3‘/—

64. A pole has to be erected at a point on boundary of a circular park of diameter 13 meter
in such a way that the difference of its distance from two diametrically opposite fixed gates
A and B on the boundary is 7 meters. Find the distance of pole from two gates A & B.

(1) 13mand4m 2) Tmandm (3) 12mand5m (4) 13mand 7m

65. The product of roots of V5x2 +3x+5=0 is |

| 1
1 -5 @ 5 ® F @ -5
PTCET - 18 o | D




tnl (L.CMIFIo03 (12576, 4052)sLelg)iind (HL.C.F.) bk 4052.412,576 /1
6369744 (4 127,39,488 (3)  31,84872 (2) . 2.5478,976 (1)

2 GBSk bl L LS

G P4 (-'.:v :}"lpéwl (irrational)# /;‘-'Jsf(rational)d:.a"“ (1)

‘Lb'lgla%ﬂbéd/“ (periodic)(:i.’;)’ ( ﬁum W (Non-temﬁnating)L@f)u tr (2)
| - Csoud P Abud® 3

e bnglend 0.3 5102 021 (4)

| | Enl g- ¥25%<L740
555 (4) 121 (3) 111 (2) | 91 O -
| Se_slzl U (37 +13) x (15 - 11) x (331 + 19)
70,000 (4) 30,250 (3) 20,350 (2) 4131 (1)
- S P ilonl BTt
Ll (@ | fe i S ()
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66. The area of the g‘ivén figure ABCDEF is

P |
A Tevm 8 A 2
5
v C F :
“o | -
c 5 o YR E - D |
(1) 2282em?2 (2) 2582cm?  (3) 26.82cm?  (4) 28.82cm?

67. The length of sides of a square ABCD is 42 cms. Find the area of the black portion between

. . 22
the square ABCD and its incircle # = 7~
A
c D
(1) 378 cm? (2) 756.cm2 {3) 189 em? (4) 462 cm?

68. If the perimeter of a semi-circular protractor is 36 ems, find its diameter.

(1) 6em (2) 7em (3) 1l4cm 4) 36cm

69. Two cubes each of 10 cm edge are joined en.ﬂ to end. Find the surface area of the resulting

"~ cuboid. o : ‘ | :

(1) 200cm2 (2) 500 cm2 (3) 700 cm?2 " (4) 1000 cm2

70. Find the volume and surface area of a cuboid whose length is 15 cm, breadth 10 cm and
height 8 cm. N , : _ -
(1> 600 cm2 ' (2) 700 cm2
(3) 1200 cm?2 ’ ‘ (4) None of the above
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